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Correct Marks : 4 Wrong Marks : 1
It is true that:
Options :
A zero order reaction is a single step

40503639586, reaction

A zero order reaction is a multistep

40503639587, reaction




A first order reaction is alwa}-'s a

40503639588, Single step reaction

A second order reaction is alwa}-'s a

40503639589 multistep reaction

Question Number : 26 Question Id : 40503610881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TRAA T F .

Options :

40503639586, A €|
40503639587, FAHERAT €|

U g Fife i AfufsE giE v v
40503639588, % FAHIHA T

40503630589, TETRA SATHIHA ¥
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Correct Marks : 4 Wrong Marks : 1
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Of the species, NO,NO™, NO2* and NO—,

the one with minimum bond strength is :
Options :
40503639590. NO

40503639591, NO?

40503639592, NO

40503639593, NO™

Question Number : 27 Question Id : 40503610882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T9iS NO, NO*, NO2* 9 NO~ 1, =8
% Tagst ey amed steTad 2, 2
Options :

40503639590, NO

40503639591, NO?

40503639592, NO

40503639593, NO™

Question Number : 28 Question Id : 40503610883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes s
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Correct Marks : 4 Wrong Marks : 1
Henry’s constant (in kbar) for four gases

a, B, v and & in water at 298 K is given
below :

|« |8 | v |0
Ky | 50 | 2 [2x10-5] 05

(density of water =103 kg m 3 at 298 K)
This table implies that :
Options :
a has the highest solubility in water

40503639594, 2t @ given pressure

solubility of vy at 308 K is lower than
40503639595, At 298K

The pressure of a 55.5 molal solution

40503639596, ©f vis 1 bar

The pressure of a 55.5molal solution

40503639597, ©f 9 1s 250 bar

Question Number : 28 Question Id : 40503610883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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298 K W &eA H =1 19l o, B,y 991 5 & forg
=11 T (kbar ®) = fed 0 2

« | B | v |5
Ky | 50 | 2 [2x10-3] 05

(298 K 9 91 =1 T==10% kg m~3)
Rl & A e ®
Options :
ﬁﬁ_@lmﬂq{uﬁqﬁﬁ Ejﬁ:ﬁ’raﬂl
40503639504, ST |

y & Heeied 308 K &1 gaa |

40503639505, 298 K W et 21

~ @ U 55.5 Grad fae=s &1 39 1
40503639596, T E|

& % T 55.5 AT a9 &1 214 250
40503639597, T E!

Question Number : 29 Question Id : 40503610884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1



Let CN aCl and CBaEU_; be the conductances
(in 5) measured for saturated aqueous
solutions of NaCl and BaSO,, respectively,

at a temperature d 1

Which of the following is false ?
Options :

G o atapiven T
40503639598,  Nadl BaSO4 498

40503639599, Be504 (T2 > Cpaso, (T for T, > T

40503639600, —Nacl (T2) > Cnacy (Ty) for T, > T,

Ionic mobilities of ions from both

40503639601 salts increase with T.

Question Number : 29 Question Id : 40503610884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ife 99 T 9, NaCl 991 BaSO, &% Wy« Sieiid
farerer 3 ferg At ¢ e (S #) Cyyyq
T Cpaso, A A FA A Ed2?

Options : T

40503639508, ~NaCl”” CBasoy AR aNT ®

Cpasoy (T2) > Cpago, (Ty), T,> Ty =

40503639599, 1%
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140503639600, “Nac1 (T2) > Cracr (T1) T> T, & fag
A T A s F st

Tfaefieram T 3 WY =2d 2

40503639601.

Question Number : 30 Question Id : 40503610885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An acidic buffer is obtained on mixing :
Options :
100 mL of 0.1 M HCI and 200 mL of

40503639602, -1 M NaCl

100 mL of 0.1 M HC1 and 200 mL of
0.1MC HECDDNa
40503639603. -

100 mL of 0.1 M CH,;COOH and
200 mL of 0.1 M NaOH

40503639604.
100 mL of 0.1 M CHSCDDH and

40503639605, 100 mL of 0.1 M NaOH

Question Number : 30 Question Id : 40503610885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
UF AT T A (9§ AT 2 e




Options :

40503639602.

40503639603.

40503639604.

40503639605.

0.1 MHC =1 100 mL 921 0.1 M NaCl
=hl 200 mL

0.1 M HCI =T 100 mL @41 0.1 M
CH,COONa =T 200 mL

0.1 M CH,COOH =T 100 mL a9
0.1 M NaOH =1 200 mL

0.1 M CH,COOH =T 100 mL @1
0.1 M NaOH =T 100 mL

Question Number : 31 Question Id : 40503610886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T}-'ndall effect is observed when :

Options :

40503639606.

40503639607.

The diameter of dispersed particles

is much smaller than the wavelength
of Iight used.

The diameter of dispersed particles
is much larger than the wavelength
of light used.
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The diameter of dispersed particlc-s

is similar to the wavr_-lc-ngﬂ\ of Iight

40503639608, Used-

The refractive index of dispersed
phase is greater than that of the

40503639609 dispersion medium.

Question Number : 31 Question Id : 40503610886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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fereat gvmE o= Ufga T s & 4 .
Options :

I TR o qEeA i ot § afifer
40503639606, TN <1 Y =gd ST 2 |
TR W OIS i g | e
40503639607, TN 1 S g S |
T WY 1 T giferd il %
40503639608, 19 = B HHM @ |

IETU] HT=AF ] gl H T qree
40503639609, F1 ATACTIH AT 2|
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The atomic number of the element

unnilennium is :
Options :
40503639610, 102

40503639611, 109

40503639612, 108

40503639613, 119

Question Number : 32 Question Id : 40503610887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FAfeTufTE e 1 T e
Options :

40503639610, 102

40503639611.

40503639612, 108

40503639613, 119

Question Number : 33 Question Id : 40503610888 Question Type : MCQ Option Shuffling : Yes Display Question Number & W ——



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the boiling point of H,O is 373 K, the
boiling point of H,S will be :
Options :

40503639614, 1ess than 300 K

40503639615, more than 373 K

al to 373
40503639616, Squalto 373K

greater than 300 K but less than
40503639617, /3K

Question Number : 33 Question Id : 40503610888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

afs H,O & Fa9i® 373 K & a1 H,S &l
FAIAE B

Options :

40503639614, 200 K H FH

40503639615, -/° K H =

40503639616, 272 K = ==

40503639617, J00 K H =M€ 9% 373 K | ¥




Question Number : 34 Question Id : 40503610889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a molecule of pyrophosphoric acid, the
number of P-OH, P=0 and P-O-P
bonds/ moiety(ies) respectively are :
Options :
40503639618, & 2and 0

40503639619, > 2and3

7 4
40503639620, 2 +and1

40503639621, 4 2and1

Question Number : 34 Question Id : 40503610889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TEFERIE TEE & AU H P-OH, P=0
TAP — O — P A== / 53091 ( 230190 ) =l T
AT T

Options :

40503639618, 42 7410

40503639619, 23 7413

i 3
40503639620. Lama




4 2
40503639621. e

Question Number : 35 Question Id : 40503610890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Aqua regia is used for dissolving noble
metals (Au, Pt, etc.). The gas evolved in
this process is :

Options :

40503639622. NO3

40503639623. NO

40503639624. N2O5

40503639625. N,

Question Number : 35 Question Id : 40503610890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ar=a 9rgsti (Au, Pt, 3fg) &1 e & fau
el IS FE A S W 1 59 WEH A
THereT =Tel 79 ©

Options :

40503639622. N2O;




40503639623, NO

40503639624. N2Os

40503639625. Ny

Question Number : 36 Question Id : 40503610891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The complex that can show optical activity
15 :

Options :

is-[Fe(NH,),(CN
20503639626, S SN LICN) |

5-[CrC g A
10503639627, 5 ICTCL(0x)]" ™ (ox=oxalate)

trans-[Fe(NH,).(CN
40503639625, Tene-1Fe(NH,),(CN),|

AT 3
40503639629, Lrans-ICr(Clo)(ox)]

Question Number : 36 Question Id : 40503610891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2
Options :




10503639626, | IFe(NH3),(CN),]

o 3 o _
10503639627, 7 1CrCly(0x)y]> (ox=oxalate)

40503639628, 1 LFe(NH3),(CN),]

214 -[Cr(Cl,) (0x),]*
40503639629. ew RN sos

Question Number : 37 Question Id : 40503610892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The electronic spectrum of [Ti(H,O)g]*"
shows a single broad peak with a
maximum at 20,300 cm 1. The crystal
field stabilization energy (CFSE) of the

complex ion, in k] mol 1

(1 k] mol~1=837 em— 1)
Options :
40503639630, 143.5

, 15 :

40503639631, 83-7
40503639632, 2323

40503639633, 27
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Question Number : 37 Question Id : 40503610892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[Ti(H,0)g* * 1 setarzifeh Tieg U forega
W (SiE W) wefvid wwa & foms 3=
20,300 cm~1 W ¥ HFA # F=a &=
T Fai (CFSE) (k] mol~1 #) 2
(1kJmol =837 cm™ 1}

Options :

40503639630, 1455

40503639631, 83-7

[

40503639632, 2425

40503639633, 27

Question Number : 38 Question Id : 40503610893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Thermal power plants can lead to :
Options :
40503639634, “icid rain

40503639635, Eutrophication

Blue babv syndrome
40503639636. g




40503639637, OZone layer depletion

Question Number : 38 Question Id : 40503610893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ardra fae das 9 o & gl
Options :

40503639634, 1T T

40503639635. {

40503639636, <1 71 (A=

40503639637, T T STF&H

Question Number : 39 Question Id : 40503610894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the [ nIInwing cnmpnunds

possesses the most acidic h}-‘dmgen ?

Options :

40503639638. HyC-C=C-1
i

40503639639. HC  CHy




40503639640. H H

40503639641 0" OMe

Question Number : 39 Question Id : 40503610894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T AfTent 3 T ¥ waifus ot rsgem
€7

Options :

40503639638, | 3¢ =1

I—chﬂ CH,
40503639639.  ° :

NEC, JOEN

P

40503639640. H H




40503639641.

Question Number : 40 Question Id : 40503610895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Glycerol is separated in soap industries
by :

Options :

40503639642, Differential extraction

40503639643 Fractional distillation

40503639644 Distillation under reduced pressure

40503639645, Steam distillation

Question Number : 40 Question Id : 40503610895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
i SEiT # frerdier Fe 8 9 o g e
fofm T 2

Options :

40503639642, TGl e




40503639643, o SRS

40503639644, T < T HAHT

40503639645.

Question Number : 41 Question Id : 40503610896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds
produces an optically inactive compound
on hydrogenation ?

Options :

H CH;

e

40503639646. ~

40503639647. “

40503639648, ~

40503639649.




Question Number : 41 Question Id : 40503610896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
FEErSHEF W H I i 1 A gau
A AT SeTe AT & 2
Options :

H CH,

|
40503639646. ~ o

H CH,

-\."‘
-
-
\ o
o
*, s

bg
40503639647. “

40503639648,

r
¥

40503639649.

Question Number : 42 Question Id : 40503610897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The antifertility drug “Novestrol” can react
with :

Options :

40503639650, P2/ water; ZnCly/ HCL; NaOC1




40503639651, TRAReE SHLLFRICL Feth

40503639652, ZnCl,/HCI; FeCl,; Alcoholic HCN

Alcoholic HCN; NaOCl; ZnCl,/HCI
40503639653. =

Question Number : 42 Question Id : 40503610897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
wiaerA sy ‘Hregia’ o sfaiwn w2
gFAEAT
Options :

40503639650, Dr2/ 1 ZnClL/HCL; NaOO

40503639651, B2/ T ZnCl, /HCL FeCl,

10503639650, ZNClo/HCL FeCly; Tehreier HCN

TesrEifer HCN; NaOCl; ZnCL, /HCl
40503639653. 2

Question Number : 43 Question Id : 40503610898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




An organic compound [A], molecular
formula C,,H,,0, was hydrolyzed with
dilute sulphuric acid to give a carboxylic
acid [B] and an alcohol [C]. Oxidation of
[C] with CrO,—-H,50, produced [B].
Which of the following structures are not
possible for [A] ?

Options :

CH,CH,CH,COOCH,CH,CH,CH,
40503639654. BRI B L R 2

|
CH;—CH, — CH— COOCH, —CH—CH,CHj,
|

40503639655, CH,

CH,
|
CH3— CHy — CH—OCOCH,CH — CH,CH,
|
40503639656. 55

CH.),— C— COOCH.C(CH
40503630657, ©= B8 2C(CH,);

Question Number : 43 Question Id : 40503610898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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TF wrEfaE AfTE [A] fagsr g
CoHy0, T T FeHREF 37 F W9 o
AU F T U Friia e 375 [B] a2
TF Uehrerd [C] 3 7 | [C] FCrO, — H,S0,
&A1Y AT [B] 374 T | T weael
H Y & [A]  ford dya TE &2

Options :

CH,CH,CH,COOCH,CH ,CH,CH,
40503639654, - ° o A

|
CH; — CHy — CH — COOCH, —CH — CH,CH,
|

40503639655, CH,

CHs,
I

CH, — CH, — CH—OCOCH,CH— CH,CH;
|
40503639656. £ea

(CH,),— C—COOCH,C(CH,),
40503639657. i &= P

Question Number : 44 Question Id : 40503610899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The mechanism of SNI reacton is given

as
) ™ [:.-:: i)
GRS ®,0 S
T e P R—Y+X°
lon pair Solvent
Separated ion
pair

A student writes general characteristics

based on the given mechanism as :

(a) The reaction is favoured by weak

nuc lenphj_les.

(b) 'R@ would be easily formed if the
substituents are bulky.

(c) The reaction is accompanied by

racemization.

(d)  The reaction is favoured by non-polar
solvents.

Which observations are correct ?

Options :

40503639658, (@) and (b)

40503639659, (P) and (d)

40503639660, (@) (P) and (c)

40503639661, (@) and (c)

&collegedumas
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Question Number : 44 Question Id : 40503610899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 4 Wrong Marks : 1
S, 1Afafsran =t feranfafy 59 e <F St @

®.0 @.0Y° e
R-X—R X —R ||X YU R_Y4X

AT W faeEs g
e A
™

<1 g% forafafy F snum w v faenddt am=
-+ 59 YR Toma €

(a) AT gaa ATFEATeal & TR

2
(b) R ST 3 9 SR afs g w2
2

(c)  eAfufeman oo & @y et 2
(d) sfuiswen sty femres g s T
zl
HIA-T Yegu W € ?
Options :
40503639658, (@ T (D)

40503639659, (b) 41 (d)

40503639660, (3)- (b) T4 (c)

40503639661, (& T ()
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Question Number : 45 Question Id : 40503610900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Kjeldahl method of Nitrogen

estimation fails for which of the following
reaction products ?

%
(a) U Sn/HCl
jiN
(b] T LiAl H4
e I =
CH,CN
@ = Q)SnCh+HC
e (ii) H,O
NH
Z~/  ? NaNO,
@ [ | it
S HCI

Options :
40503639662, (@) and (d)

40503639663, (€) and (d)



40503639664, (£) and ()

40503639665, (@) (¢) and (d)

Question Number : 45 Question Id : 40503610900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
it T stfaferan ol < fore Amsgem
A F1 FHeele faf TaFe @l €2

NO,
{E!.] l-'_."-:-:': "| M
CN
(b) l"’f K| w
CH,CN
g )
 NH,
s NaNO,
W [ g
Options :
(a) T (d)
40503639662.



(c) = (d)

40503639663.

40503639664, (©) T (©)

40503639665, (&) (€) T (d)

Sub-Section Number : 2
Sub-Section Id : 405036758
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503610901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The mole fraction of glucose (CH;,0;) in

an aqueous binary solution is 0.1. The

mass percentage of water in it, to the

nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 46 Question Id : 40503610901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0




uF werg fgenant faaga ¥ 91w
(CgH,0p) 1 HIE Wi (Hred 3hee) 0.1
e SHH Al ® geaE giawdar (e
quiieR), HEr |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 47 Question Id : 40503610902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

An element with molar mass
o || kg mol ! forms a cubic unit cell
with edge length 405 pm. If its density is
2.7 x10° kg m 3, the radius of the element

is approximately __ - x10712m

(to the nearest integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 47 Question Id : 40503610902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0




UF dcd, fa99®T HiTw gHEHE
2.7x10°2 kg mol 1 %, 405 pm ELd F’lﬁﬂ'&?
F1 UF 9H UHF Tel 9411 & | 3G 5HH (T
F1) T 2.7x103 kg m~3 ¥, @ a9 *I
B = B __ %192 m
(Trepeas quiies ) |
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 48 Question Id : 40503610903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



The photoelectric current from Na
(work function, wy=2.3 eV) is stopped by

the output voltage of the cell

Pt(s)/H,(g, 1 bar) HCl{aq., pH=1)|AgCl(s)|
Ag(s).

The pH of aq. HCI required to stop the

photoelectric current from K(wy=2.25eV),

all other conditions remaining the same,

is  x10"2 (to the nearest

integer).

Given,

2303 XL _ 906 v E? . =022V
F AgCl|Ag|al

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 48 Question Id : 40503610903 Question Type : SA Display Question Number : Yes
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The volume strength of 8.9 M H-,O,
solution calculated at 273 K and 1 atm is
(R=0.0821 L atm

K~ mol~1) (rounded off to the nearest

integer)
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The total number of monohalogenated
organic products in the following

(including stereoisomers) reaction is

A () Ho/Ni/a
(i) Xo /A

(Simplest optically
active alkene)

Response Type : Numeric
Evaluation Required For SA : Yes




Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 50 Question Id : 40503610905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

=1 sifuferan § uweesHiEa FETS Sl

(i) Ha/Ni/A
(ii) Xa2/A

(UF AT A T
ki)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.002

Mathematics
Section Id : 405036396
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25

Number of Questions to be attempted : 25




